
Page 1 of 4 

 

Enrollment No: _______________________         Exam Seat No: _______________________ 

C.U. SHAH UNIVERSITY 
Winter Examination-2019 

 

Subject Name: Surveying                                              

Subject Code: 2TE03SUR1                                  Branch: Diploma (Civil) 

Semester :  3                 Date : 20/11/2019            Time : 02:30 To 05:30       Marks : 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 

(14)  

 a.) Which of the below is not an instrument used to set right angles? 

a) Cross staff              b) Site square            c) Optical staff                d) Prism square 

નીચેનાભાાંથી કય ાં વાધન  right angles સ મોજજત કયલા ભાટે લ઩યામ નથી? 

a) ક્રોવ સ્ટાપ                b) વાઈટ સ્કેલય         c) ઓપ્ટીકર સ્ટાપ         d) પ્રીઝભ સ્કેલય 

1 

    b.) Plane and geodetic surveying are classifications of surveying based on: 

a) Methodology       b) Earth’s curvature  c) Object of survey         d) Instrument 

પ્રેન અન ેજીઓડટેટક વલેક્ષણ એ_________ આધાયે વલેક્ષણના લગીકયણ છે: 

a) ઩દ્ધતત                  b) પથૃ્લીની લક્રતા        c) લસ્ત ના વલેક્ષણ           d) વાધનો 

1 

 c.) Which of the below is not a means of linear surveying methods? 

a) Theodolite            b) EDM                     c) Tape                                d) Chain  

નીચેનાભાાંથી કઈ યેખીમ વલેક્ષણ ઩દ્ધતતઓન ાં વાધન નથી? 

a) તથમોડોરાઇટ       b) EDM                       c) ટે઩                                  d) વાાંક઱  

1 

 d.) Which of the below is not a temporary adjustment of the prismatic compass? 

a) Centering        b) Levelling            c) Focusing prism               d) Adjusting sight vane 

નીચેનાભાાંથી કમા તપ્રઝભેટટક શોકામાંત્રન ાં કાભચરાઉ ગોઠલણ નથી? 

a) કેન્દ્રિત             b) રેલલરિંગ    c) તપ્રઝભ ઩ય  કેન્દ્રિત કયવ ાં   d) દૃન્દ્ટટની લેનને વભામોજજત 

કયવ ાં 

1 

 e.) ___________ Line is the line drawn through points of the same declination. 

a) Polygonic              b) Isogonic              c) Syngonic                      d) Agonic  

 ___________ રાઇન જે વયખા  ડીક્રીનેળન  લફિંદ ઓ દ્વાયા દોયેરી યેખા છે 

a) ઩ોરીગોનીક         b) આઈવોગોનીક  c) વાઈગોનીક               d) અગોનીક 

1 

 f.) ________ is a term used that prevents the needle from pointing to the magnetic North in 

a given locality. 

a) Local attraction   b) Declination     c) Deviation                 d) Local distraction 

________ એ એક ળબ્દ છે જે વોમન ેઆ઩ેરા તલસ્તાયભાાં ચ ાંફકીમ ઉત્તય તયપ ધ્માન દોયતો 
અટકાલે છે. 

1 
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a) રોકર  આક઴ષણ   b) ડીક્રીનેળન      c) તલચરન                      d) સ્થાતનક તલક્ષે઩ 

 g.) How many types of a compass are used in surveying? 

વલેક્ષણભાાં કેટરા પ્રકાયનાાં કમ્઩ાવ નો ઉ઩મોગ થામ છે? 

a) 2               b) 3                        c) 4                            d) 5 

1 

 h.) How many meridians are used in surveying? 

વલેક્ષણભાાં કેટરા ભેયીટડઅરવ લ઩યામ છે? 

a) 3               b) 4                        c) 5                           d) 6 

1 

 i.) How many types of cross staff are available? 

કેટરા પ્રકાયના ક્રોવ સ્ટાપ ઉ઩રબ્ધ છે? 

a) 2               b) 3                       c) 4                            d) 5 

1 

 j.) The biggest of the survey line is called: 

a) First line       b) Base line                   c) Tie line                            d) Main survey line 

વલેક્ષણ ભાાં વૌથી ભોટી રાઈન : 

a) ઩શરેી રાઈન   b) ફેઝ રાઈન               c) ટાઈ રાઈન                  d) મ ખ્મ વલેક્ષણ રાઈન          

1 

 k.) The process of a location of intermediate points on a survey line is: 

a) Aligning        b) Extending                 c) Ranging                           d) Offsetting 

એક વલેક્ષણ રાઇન ઩યના ભધ્મલતી લફિંદ ઓના સ્થાનની પ્રટક્રમા આ છે: 

a) ગોઠલણી     b) તલસ્તાયવ ાં               c) યેરજીંગ                        d) ઓપ વેટટિંગ 

1 

 l.) Gunter’s chain consists of _________ links 

ગાંટયની વાાંક઱ભાાં _________ લરિંક્વ ળાભેર છે 

a) 500          b) 50                     c) 100                         d) 1000 

1 

 m.) Which of the below is a classification of surveying? 

a) Marine          b) Astronomical          c) Land                                d) all of the above        

નીચેનાભાાંથી કમા વલેક્ષણન ાં લગીકયણ છે?      

a) ભયીન            b) ખગો઱ીમ                c) જભીન                        d) ઉ઩યોક્ત તભાભ     

1 

 n.) The difference between magnetic north and geographic north is: 

a) Dip          b) Strike                       c) Declination                       d) Bearing 

ચ ાંફકીમ ઉત્તય અને બૌગોલરક ઉત્તય લચ્ચેનો તપાલત છે: 

a) ડી઩            b) સ્રીક                     c) ડીક્રીનેળન                   d) ફેટયિંગ 

1 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 
 a.) Explain Temporary and permanent adjustments of dumpy level 

ડમ્઩ી રેલર ના અસ્થામી અન ેકામભી ગોઠલણો વભજાલો. 
7 

 b.) How to Computations of volume by trapezoidal and prismoidal formula? 

રે઩ેઝોઈડર અને પ્રીઝભોઈડર ના સ ત્રો દ્વાયા કદ કેલી યીતે ગણી ળકામ ? 

4 

 c.) Explain uses of telescopic alidade. 

ટેરીસ્કો઩ીક એરીડડે ના ઉ઩મોગ ન ાં લણષન કયો  
3 

Q-3  Attempt all questions (14) 
 a.) Define following terms, 

I ) whole circle bearing             ii) Quadrant bearing  iii) fore bearing  

iv) local attraction in compass  v) dip in compass      vi) True meridian  

vii) true bearing 

નીચેના ઩દો ને વ્માખ્માતમત કયો: 

7 



Page 3 of 4 

 

I ) આખ ાં લત ષ઱ ફેયીંગ                      ii) ચત ર્ ષજ ફેયીંગ          iii) પોય ફેયીંગ  

iv) કાં઩ાવ ભાાં સ્થાતનક આક઴ષણ        v) કાં઩ાવ ભાાં ડી઩          vi) વાચ ાં ભેટયટડમન  

vii) વાચ ાં ફેયીંગ   

 b.) Describe the method of orienting plane table by back sighting. 

઩ાછ઱ ના ળાઈટીંગ  ની ભદદ થી પ્રેન ટેફર ને ટદળાભાન કયલા ની ઩ધ્ધતત ન ાં લણષન કયો. 
7 

Q-4  Attempt all questions (14) 
 a.) Describe various accessories required for plane table survey with neat sketch and also 

write their use. 

પ્રેન ટેફર વલેક્ષણ ભાાં લા઩યાત જ દા જ દા વાધનો ને આકૃતત દોયી વભજાલો.પ્રેન ટેફર 

વલેક્ષણ ના ઉ઩મોગ જણાલો.  

7 

 b.) What is two point problem in plane table survey? How it is solved? 

પ્રેન ટેફર વલેક્ષણ ભાાં ટ  ઩ોઈરટ વભસ્મા શ ાં છે ?તેન ેકેલી યીતે દ ય કયી વકામ?  

7 

Q-5  Attempt all questions (14) 
 a.) Draw contours for (i) hill, (ii) valley, (iii) pond, (iv) ridge line, (v) over hanging cliff, (vi) 

steep slope, and (vii) saddle. 

કરટ ય દોયો :i) ટેકયી ii) ખીણ iii) ત઱ાલ  iv)યીડ્જ યેખા  v)ઉ઩ય રટકતી ખડક  vi) તીવ્ર ઢા઱ 

vii)વેડર  

7 

 b.) What are contours? Discuss its characteristics with the help of neat sketches. 

કરટ ય એટરે શ ાં ?તેની રાક્ષલણકતા સ ખ઱ સ્કેચ દ્વાયા લણષલો. 
7 

Q-6  Attempt all questions (14) 
 a.) The observed bearings of the traverse are given below. Find out included angles. 

રાલવષના અલરોકન કયેર ફેટયિંગ્વ નીચે આ઩ેર છે.અંદય ના ખણૂા ગણો. 
LINE FB BB 

AB 70
0 

250
0 

BC 110
0 

290
0 

CD 160
0 

340
0 

DE 220
0 

40
0 

EA 300
0 

20
0 

 

7 

 b.) Explain Bowditch’s rule and transit rule. 

ફાઉડીચ અન ેરાઝીટ ના તનમભ ન ાં લણષન કયો.  
7 

Q-7  Attempt all questions (14) 
 a.) Explain with neat sketch plane and geodetic surveying 

સ ઘડ સ્કેચ દ્વાયા પ્રેન અન ેજીઓડટેટક વલેક્ષણ વભજાલો. 
7 

 b.) What is surveying? Explain uses of surveying. 

વલેક્ષણ એટરે શ ાં ?વલેક્ષણના ઉ઩મોગો વભજાલો 
4 

 c.) Differentiate between: transit theodolite and non-transit theodolite. 

તપાલત આ઩ો : વાંક્રભનીમ થીમોડોરાઈટ અને અવાંક્રભનીમ થીમોડોરાઈટ 

3 

Q-8  Attempt all questions (14) 
 a.) Explain fundamental principles of surveying. 

વલેક્ષણના મ઱ૂ તવદ્ધાાંતો વભજાલો 
7 

 b.) Find the included angles between line AB and AC if the bearings are 4 
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(i) AB 60
0
 10’ AC 245

0
 10’ 

(ii) AB N10
0
 50’E AC S40

0
 40’E (Reduce bearing) 

(iii) AB N30
0
 25’E AC N30

0
 25’W (Reduce bearing) 

જો ફેટયિંગ્વ શોમ તો રાઇન એફી અન ેએવી લચ્ચે વભાતલટટ ખણૂા ળોધો 
          (i) એફી 60

0
 10 ‘એવી 245

0
 10’ 

         (ii) એફી N10
0
 50’E AC S40

0
 40’E (ફેટયિંગ ઘટાડવ ાં) 

        (iii) એફી N30
0
 25’E AC N30

0
 25’W (ફેટયિંગ ઘટાડવ ાં) 

 c.) Differentiate between magnetic declination and magnetic dip. 

ચ ાંફકીમ ઘટાડા અન ેચ ાંફકીમ ડી઩ લચ્ચેનો તપાલત. 

3 

 


